L
se= ok
Roll No. Suwbl Annuat 201
General Mathematics (AU « IT LuL2L) (IIT) il
Paper:II (Group:I) . (..,,:/%) II: 3
Time : 20 Minutes Objective ((5%2>*) w20 =
Marks : 15 Code : 7265 15 4

B e LI H G L S s LI g $637 ~ Ll D sl C, B, A Azl L iy i d
= (KJYJLB-'-U’:!J)C‘ gﬁ:a-#"L,( -."._/.a/.bi’ LL/Q:(U:/'DuQJc'— L
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
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1
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or more circles will result in zero mark in that question.

 if a<60 and60<b, then a b

= (D) 2 (©
. Solutionof x2=9=0 is

{-3} ©  {#3} (©)
. x* +2x+1=0 has the solution .

{0,1} (©) {0} (©)

. Two matrices are conformable for addition if they are of

the different order g (B)
order 3 X 3 3X3=2 (O
A triangle with no equal side is called
equilateral &=L Uil (B)
right angled &t _sliz4¢ (D)

. The number of techniques to solve a quadratic equation is

3 (D) 4 (C)

. The number of perpendicular bisectors of the sides of

a triangle is

a_____ b 7,.60<b.,a<60fi_1 1
= (B) > (A)
e SEx’=9=0
{9} @ 9 »w
el S ¥ X +2x+1=0 -3
{-1} ® {+1.-} @
custes N Zonunirdl G 6 0 -4
the same order 20 (A)
the order 2 X 2 2X2 .2 (C)

-4.8[1#1”.&4'4&.,:[} (3)/ ¥ ettt <5

Isosceles .4..1;‘-;2 i (A)
scalene & Wyl (o))

Y - L) f..:'.-bl/ G 22 -6
2 (B) 1 (A)
—e B Juset G L L Loty 7

3 (D) 4 (C) 2 (B) 1 (A)
. Area of a circle with radius ' r ' is bt s 6 g "1 Sl K e s -8
7t (D) zr? (©) 2nr (B) r? (A)
. Points which do not lie on the same straight line are called L sy BLizsB! -9
zero M (D) equal (ss (C) collinear 7 (B) noncollinear 1-5(7/.; (A)
(@+b)a*—ab+b*)=...uerrerne (a+b)@ —ab+b*)=..uwecrine <10
a+b’ (©) (@a-b (©  (a+b)y ® a-b A
a® —3ab(a-b)-b’ =.......... a® -3abla=-b)-b’ =.......... 11
(a-b) (D) a -b° ©  (a+b) (B) S+ (A
Factorization of (x+3)* =4 is = Sf § (x+3)' -4 12
(x=1)(x-5) (D) x+D(x=5) ©) x-I)(x+5 @ =+ D(x+35) (A
Factorization of x° — »° is -uf-»u'){ g x* -y 13
(x =) +xy+y*) (B) (x=y)(x*+y?) A)
(x+ y)(x* +xy+y*) (©) (=) =xy+ ) ©
HCFot 5y 3x41 , 2x2—x-118 e ¥ 227 +3x+1 2x~-x—1 .14
x-1 (D) x+1 (©) 2x+1 (B) 2x -1 (A)
The symbol S stands for -4..(3f b S =k _15
greater than or equal to sli et (B) less than P (A)
equal to ezl (D) less than or equal to ¢ «lx L& E4e(C)
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2. Write short answers to any Six parts :
i. f P(x)=x*+3x*-5x+9
then find P(x) for x =0
X - y’
ii. Simplify 3y_ 3x

iil. 1f P(r)=4xr®thenfind P(r)for r=8
.2

and & =‘7.
iv. Define linear equation and give an example.
16x? - 24ax +9a?

2a’ -bc-2ab +ac

v. Factorize:

vi. Factorize:

vii. Define L.C.M.

viii. Find L.C.M of 2ab,3ab,4ca

ix. Find L.C.M by factorization of 3a*b?c? , 5a*b°c’

3. Write short answers to any Six parts : (6x2=12)
11 1
i. Solve it 2y+-z=5y+2
i Solve it 3x+3(x+1)=69
iii. Solve it [3x+4|=9
iv. Define scalar matrix.
B -3 =2
" v. Find the transpose -1 4
2 3 4 0
Vi. Find 4_ B when A=|1 5 5|,B=|2
4 9 3 1
vii. Define quadratic equation.
viil. Solve by factorization . x*=8-7x
ix, Solve by factorization. 3x*-8x-3=0
4 Write short answers to any six parts : (6x2=12)

I. Define paralleli lines.

ii. Find * =9

iii. Define Sector of a circle.

iv. Define incentre of triangle.
v. Define tangent to circle.

fﬁ‘(f& Hﬁ/ﬂ&ﬂ Zg G.-Jf -l

Xt =y
3y—3x

i

e PO & =372— o r=8 3 5 P(r)=4nr* [ _ii
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vi. Find altitude of right triangle if base=5, hypoteneous =13 &£ A*s® JUns=13 1ol suel=5 Ll L alb LI _vi

vii. Write Hero's formula to find area of triangle.
viii. Locate (0 ,4) in co-ordinate plane.

?_(.

Find distance between points 4(~1,3) ang B(-2,-1)

bl s £ B(=2,-1)

-2y Jam b’é_/r"}" 26 adh i
- 46 L6 G S0, 4) il
s AL3) L _ix

( Turn Over )
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Note :- Section | is compulsory. Attempt any three (3) questions from Section I1.

Section | - )il

(6x2 = 12)
x=0 gze iy P(x) 3 P(x)=x"+3x"-5x+9 /i _

e



4 L3
B / (2)
~ _Section - I T
(A ) #T L )-Bsayzlcinbe s o)
Nota: Attempt any three questions. Each question carries Eight (8) marks.
=2 3 3
548) Find the valve of ¥ *¥ y **¥=7 x=10 =10, FA=T g o3 g XYY (A8
,_64p° ) A
(b) Factorize "~ g3 g & UL ()
2 b 3 2
6.(a) Find H.C.F using division method MR o Pt eeed - LN sk Fa g
(b) Solve and check it V5n+9 =n-1 -ZJey m ZES (0
7.(a) Solve by using quadratic formula 4x* +3x-2=0 LS 2a K s 3 (a)-T
(b) Draw an equilateral triangle each of _:{:" sl i UREF 8.38° 1 6 2l &t Lol SoLl (b)
whose sides is 5.3 cm . Draw its medians.
PrLE . B sz fb 2 -
8. it =3 4| thenfina M M gppr MTM 5, M =3 4| /i (a)-8
8 x+3y=1
(B) Use Cramer's rule to solve 2x+8y=0 S IS S (b)
9.(a) Find the volume of a solid right circular 10U ol 2 T asr ¥ mii‘ﬁﬁz-;-:(}" f KLk P L (a)-9
cylinder with circumference of base 4 cm, altitude 1 m.
,4), #O)is o
(b)  Show that the points 4@1,4) , B(5,6) and Ut b3S C9.8) i A,4)» 86 )J-ﬁ: S (b)

C(9,8) are collinear
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